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1 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00] 000 ~ 455 56.71] ZhLls |0.00 ~ 455| 1.91 9.65 ZThLLSE 1.00] 500 ~ 503 56.71] Zhklst | 500 ~ 503] 1.91 9.65
9 100kN/mM#%#BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00{0.00 ~ 3.08 3957 #hList | 000 ~ 3.08] 245 12.39 Zh LS 1.00|] 500 ~ 6.19 39.57| #huls | 500 ~ 6.19] 245 12.39
3 100kN/mM##8Z % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st -l -~ = -| Zn LSt -~ = = = Zh st = -~ = -| Zhiist = e = = -
4 100kN/mM#%# 8% % 1.00/ 0.00 ~ 0.01 100.16|3mZ#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00| 10.58 ~ 10.61 100.16|3m%i#B% % = ~ = = =
Zh st 1.00/ 001 ~ 7.80 100.00] #hlist | 000 ~ 7.80] 1.81 9.17 Zh LS 1.00| 500 ~ 10.58 100.00| Zh it | 500 ~ 10.61] 1.81 9.17
5 100kN/mM#%# 8% % 1.00/ 0.00 ~ 0.01 100.16|3mZ#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00| 10.58 ~ 10.61 100.16|3m%i#B% 5 = ~ = = =
Zh st 1.00/ 001 ~ 7.80 100.00] #hlist | 000 ~ 7.80] 1.81 9.17 Zh LS 1.00|] 500 ~ 10.58 100.00| Zhlist | 500 ~ 10.61] 1.81 9.17
6 100kN/mM#%#BZ % 1.00/ 000 ~ 0.16 102.40|3mZ#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00| 1057 ~ 11.01 102.40|3m%i#B% % = ~ = = =
Zh st 1.00[016 ~ 7.95 100.00] Zh st | 000 ~ 7.95| 1.74 8.78 Zh LS 1.00|] 500 ~ 1057 100.00| Zh it | 500 ~ 11.01] 1.74 8.78
7 100kN/mM#%# 8% % 1.00/ 000 ~ 0.16 102.40|3mZ#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00] 10.57 ~ 11.01 102.40|3m%i#BZ % = ~ = = =
Lot 1.00]0.16 ~ 7.95 100.00] Zhist |0.00 ~ 7.95| 2.14 10.84 Zh st 1.00f 5.00 ~ 10.57 100.00f Z1List | 500 ~ 1101 2.14 10.84
8 100kN/mM##BZ 5 1.00{0.00 ~ 1.22 118.51|3m%EE %% -~ = = -| 100kN/MZE#BZ % 1.00| 10.53 ~ 1442 118.51|3m%E#B %% = ~ = = =
ZnLst 1.00] 1.22 ~ 9.01 100.00] ZH L4t | 0.00 ~ 9.01| 2.18 11.01 Zhn st 1.00f 5.00 ~ 10.53 100.00f Z1List | 500 ~ 1442 2.18 11.01
9 100kN/mM##BZ % 1.00{0.00 ~ 0.65 109.61|3m%EHE %% -~ = = -| 100kN/ %8z % 1.00| 10.57 ~ 1247 109.61|3m%E# %% = ~ = = =
Zrn Lot 1.00] 0.65 ~ 843 100.00] Zhlist | 0.00 ~ 843 2.14 10.82 st 1.00f 5.00 ~ 10.57 100.00f ZhList | 500 ~ 1247 2.14 10.82
10 100kN/mM##BZ % 1.00{0.00 ~ 0.33 104.83|3m%EHE %% -~ = = -| 100kN/ %z % 1.00| 1053 ~ 1142 104.83|3m%E#B %% = ~ = = =
ZnLst 1.00{ 0.33 ~ 8.11 100.00] Zhist |0.00 ~ 811 2.18 11.02 Zh st 1.00f 5.00 ~ 10.53 100.00f Z1list | 500 ~ 1142 2.18 11.02
11 100kN/mM##BZ 5 1.00{0.00 ~ 0.03 100.43|3m%EHE %% -~ = = -| 100kN/MZE#BZ % 1.00| 10.65 ~ 10.72 100.43|3m%E#B %% = ~ = = =
ZnLst 1.00{ 0.03 ~ 7.81 100.00| ZhList |0.00 ~ 7.81] 2.27 11.45 Zhn st 1.00f 5.00 ~ 10.65 100.00f Z1list | 500 ~ 10.72| 2.27 11.45
12 100kN/mM##BZ % -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S -~ = = =
Zhn Lot 1.00{ 0.00 ~ 7.37 93.96] ZnList |000 ~ 737 1.75 8.83 Zzh st 1.00f 500 ~ 952 93.96] #n Ly | 500 ~ 952 1.75 8.83
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh st ~ ZhLS ~
100kN/mM%#E% % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZNLSE ~ ZThLst ~ ZTHLSE ~
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